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1BP
1BP +  4.980
INO. 1
INO. 1 + 10.000
INO. 1 + 14.841 (_1BC
INO. 2
INO. 2 + 17.500
INO. 3
INO. 3 + 2.102 (_1SP
INO. 3 + 6.000
INO. 4
INO. 4 + 9.364 (_1EC
INO. 4 + 17.283 (_1BC
INO. 5 0.000 5.43 4.88
INO. 5 + 17.800 7.800 5.43 5.430 42.4 4.88 4.880 38.1
INO. 6 12.200 5.43 5.430 66.2 4.88 4.880 59.5
INO. 6 + 10.701 (_1SP 10.701 5.43 5.430 58.1 4.88 4.880 52.2
INO. 7 9.299 5.43 5.430 50.5 4.88 4.880 45.4
INO. 8 20.000 5.43 5.430 108.6 4.88 4.880 97.6
INO. 8 + 4.119 (_1EC 4.119 5.43 5.430 22.4 4.88 4.880 20.1
INO. 9 15.881 5.43 5.430 86.2 4.88 4.880 715
INO. 9 + 0.600 0.600 i:gg 5.430 3.3 4.88 4.880 2.9
INO. 9 + 3.800 3.200 4.88 4.880 15.6 4.88 4.880 15.6
INO. 9 + 17.300 3.500 g:ig 4.880 17.1 4.88 4.880 17.1
INO. 9 + 16.000 8.700 5.43 5.430 47.2 4.88 4.880 42.5
INO. 10 4.000 5.43 5.430 21.7 4.88 4.880 19.5

AN F 100.000 539.3 488.0
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INO. 10 0.000 5.43 4.88
INO. 10 + 11.119 ( 1BC 3 )| 11.119 5.43 5.430 60.4 4.88 4.880 54.3
INO. 11 8.881 5.43 5.430 48.2 4.88 4.880 43.3
INO. 11 + 11.573 (_1SP_3 )| 11.573 5.43 5.430 62.8 4.88 4.880 56.5
INO. 12 8.427 5.43 5.430 45.8 4.88 4.880 41.1
INO. 12 + 12.028 ( 1IEC 3 )| 12.028 5.43 5.430 65.3 4.88 4.880 58.7
INO. 12 + 18.289 ( 1BC 4 ) 6.261 5.43 5.430 34.0 4.88 4.880 30.6
INO. 13 1.711 5.43 5.430 9.3 4.88 4.880 8.3
INO. 13 + 6.300 6.300 5.43 5.430 34.2 4.88 4.880 30.7
INO. 13 + 17.350 11.050 Z:gg 5.430 60.0 4.88 4.880 53.9
INO. 14 2.650 4.88 4.880 12.9 4.88 4.880 12.9
INO. 14 + 2.000 2.000 4.88 4.880 9.8 4.88 4.880 9.8
INO. 14 + 5.900 3.900 g:ig 4.880 19.0 4.88 4.880 19.0
INO. 14 + 7.901 (_1SP_4 ) 2.001 5.43 5.430 10.9 4.88 4.880 9.8
INO. 15 12.099 5.43 5.430 65.7 4.88 4.880 59.0
INO. 15 + 10.500 10.500 5.43 5.430 57.0 4.88 4.880 51.2
INO. 15 + 17514 ( 1EC 4 ) 7.014 5.43 5.430 38.1 4.88 4.880 34.2
INO. 16 2.486 5.43 5.430 13.5 4.88 4.880 12.1
INO. 16 + 1.259 ( 1BC 5 ) 1.259 5.43 5.430 6.8 4.88 4.880 6.1
INO. 17 18.741 5.43 5.430 101.8 4.88 4.880 91.5
INO. 17 + 2.798 (_1SP_5 ) 2.798 5.43 5.430 15.2 4.88 4.880 13.7
INO. 18 17.202 5.43 5.430 93.4 4.88 4.880 83.9
INO. 18 + 4.336 ( 1EC 5 ) 4.336 5.43 5.430 23.5 4.88 4.880 21.2
INO. 18 + 8.000
INO. 18 + 16.072 ( 1IBC 6 )
INO. 19

AN F 164.336 887.6 801.8
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21
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21 + 8.054
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21 + 16.500
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22 + 17.650
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23

INO.

23 + 4.000

INO.

23 + 8.800

INO.

23 + 19.521
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INO. 26 + 11.000

INO. 26 + 16.980

INO. 27

INO. 27 + 5.199 ( ISP 8 )

INO. 28

INO. 28 + 7.061 ( IEC 8 )

INO. 29

INO. 29 + 18.000

INO. 30

INO. 31

INO. 31 + 5.000

INO. 32

INO. 32 + 1.578 ((1BC 9 )

INO. 33

INO. 33 + 2.757 (ISP _9 )

INO. 33 + 5.000

INO. 33 + 14.000

INO. 34

INO. 34 + 2.100

INO. 34 + 3.936 ( IEC 9 )

INO. 34 + 9.000

INO. 34 + 12.200

INO. 35

INO. 35 + 0.065 (_ 1BC 10)

INO. 35 + 14.500

INO. 36
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INO. 36
INO. 36 + 1.166
INO. 36 + 1.446 ( ISP 10 )

INO. 36 _+ 13.000

INO. 37

INO. 37 + 2.827 ( 1EC 10 )

INO. 37 + 11.979 ( 1BC 11 )

INO. 38

INO. 38 + 3.700

INO. 38 + 12.860 ( 1SP 11 )

INO. 39

INO. 39 + 13.741 ( 1EC 11 )

INO. 40

INO. 40 + 3.200

INO. 40 + 14.540 ( 1BC 12 )

INO. 41

INO. 41 + 14.989 ( 1SP 12 )

INO. 41 + 16.000

INO. 42

INO. 42 + 15.438 ( 1EC 12)

INO. 43

INO. 43 + 18.150

INO. 44

INO. 44

+

2.300 ( 1EP )

/N E

Ei 264.336 1,426.9 1,289.8
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1BP
INO. 1
INO. 1 + 10.000
INO. 1 + 14.841 (_1BC
INO. 2
INO. 2 + 17.500
INO. 3
INO. 3 + 2.102 (_1SP
INO. 3 + 6.000
INO. 4
INO. 4 + 9.364 (_1EC
INO. 4 + 17.283 (_1BC
INO. 5 0.000 4.88
INO. 5 + 7.800 7.800 4.88 4.880 38.1
INO. 6 12.200 4.88 4.880 59.5
INO. 6 + 10.701 ( ISP 10.701 4.88 4.880 52.2
INO. 7 9.299 4.88 4.880 45.4
INO. 8 20.000 4.88 4.880 97.6
INO. 8 + 4.119 ( 1EC 4.119 4.88 4.880 20.1
INO. 9 15.881 4.88 4.880 715
INO. 9 + 3.800 3.800 4.88 4.880 18.5
INO. 9 + 16.000 12.200 4.88 4.880 59.5
INO. 10 4.000 4.88 4.880 19.5
INO. 10 + 11.119 (IBC 3 )| 11.119 4.88 4.880 54.3
INO. 11 8.881 4.88 4.880 43.3
INO. 11 + 11.573 (_ISP_3 )| 11.573 4.88 4.880 56.5

A E 131.573 642.0
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INO. 11 + 11573 (_1SP_3 ) 0.000 4.88
INO. 12 8.427 4.88 4.880 41.1
INO. 12 + 12.028 ( 1IEC 3 )| 12.028 4.88 4.880 58.7
INO. 12 + 18.289 ( 1BC 4 ) 6.261 4.88 4.880 30.6
INO. 13 1.711 4.88 4.880 8.3
INO. 13 + 6.300 6.300 4.88 4.880 30.7
INO. 14 13.700 4.88 4.880 66.9
INO. 14 + 2.000 2.000 4.88 4.880 9.8
INO. 14 + 7.901 (_1SP 5.901 4.88 4.880 28.8
INO. 15 12.099 4.88 4.880 59.0
INO. 15 + 10.500 10.500 4.88 4.880 51.2
INO. 15 + 17.514 (_1EC 7.014 4.88 4.880 34.2
INO. 16 2.486 4.88 4.880 12.1
INO. 16 + 1.259 (_1BC 1.259 4.88 4.880 6.1
INO. 17 18.741 4.88 4.880 91.5
INO. 17 + 2.798 (_1SP 2.798 4.88 4.880 13.7
INO. 18 17.202 4.88 4.880 83.9
INO. 18 + 4.336 (_1EC 4.336 4.88 4.880 21.2
INO. 18 + 8.000
INO. 18 + 16.072 ( 1BC
INO. 19
INO. 19 + 11.700
INO. 20
INO. 20 + 0.970 (_1SP
INO. 20 + 4.000
INO. 20 + 17.500

A E 132.763 647.8
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INO. 20 + 17.500
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INO. 21 + 5.868 ( 1EC 6 )

INO. 21 + 8.054 ( 1IBC 7 )
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INO. 31 + 5.000
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INO. 32 + 1.578 ( 1IBC 9 )

INO. 33

INO. 33 + 2.757 (_1SP_9 )

INO. 33 + 5.000
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INO. 34 + 9.000
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INO. 39 + 13.741 ( 1EC 11)
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INO. 39 + 13.741 ( 1EC 11)
INO. 40
INO. 40 + 3.200
INO. 40 + 14.540 ( 1BC 12)
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INO. 41 + 14.989 ( ISP 12)
INO. 41 + 16.000
INO. 42
INO. 42 + 15.438 (_1EC 12)
INO. 43
INO. 44
INO. 44 + 2.300 ( 1EP )
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INO. 13 + 16.750 10.450 1.13 1.130 11.8 1.13 1.130 11.8
— s E SO < - N
INO. 14 + 2.000 2.000
INO. 14 + 6.500 4.500 1.13 1.13
INO. 14 + 7.901 ( 1SP 1.401 1.13 1.130 1.6 1.13 1.130 1.6
INO. 15 12.099 1.13 1.130 13.7 1.13 1.130 13.7
INO. 15 + 10.500 10.500 1.13 1.130 11.9 1.13 1.130 11.9
INO. 15 + 17.514 ( 1EC 7.014 1.13 1.130 7.9 1.13 1.130 7.9
INO. 16 2.486 1.13 1.130 2.8 1.13 1.130 2.8
INO. 16 + 1.259 ( 1BC 1.259 1.13 1.130 1.4 1.13 1.130 1.4
INO. 17 18.741 1.13 1.130 21.2 1.13 1.130 21.2
INO. 17 + 2.798 ( 1SP 2.798 1.13 1.130 3.2 1.13 1.130 3.2
INO. 18 17.202 1.13 1.130 19.4 1.13 1.130 19.4
INO. 18 + 4.336 ( 1EC 4.336 1.13 1.130 4.9 1.13 1.130 4.9

N F 153.217 161.3 161.3
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INO. 18 + 4.336 ( 1EC 5 )

INO. 18 + 6.700

INO. 18 + 6.700

INO. 18 + 8.000

INO. 18 + 16.072 ( 1BC 6 )

INO. 19

INO. 19 + 2.130

INO. 19 + 2.130

INO. 19 + 11.700

INO. 20

INO. 20 + 0.970 (_ ISP 6 )

INO. 20 + 4.000

INO. 20 + 17.500

INO. 21

INO. 21 + 5.868 ( IEC 6 )

INO. 21 + 8.054 ((IBC 7 )

INO. 21 + 16.500

INO. 22

INO. 22 + 9.800

INO. 22 + 13.788 (ISP 7 )

INO. 22 + 18.250

INO. 23

INO. 23 + 4.000

INO. 23 + 8.800

INO. 23 + 19.521 ( 1EC 7 )

INO. 24
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INO. 24

INO. 24 + 17.500

INO. 25

INO. 25 + 10.500

INO. 26

INO. 26 + 3.338 ( IBC 8 )

INO. 26 + 9.260

INO. 26+ 11.000

INO. 26 + 16.980

INO. 27

INO. 27 + 5.199 (ISP 8 )

INO. 28

INO. 28 + 7.061 ( 1EC 8 )

INO. 29

INO. 29 + 18.000

INO. 30

INO. 31

INO. 31 + 5.000

INO. 32

INO. 32 + 1.578 ((1BC 9 )

INO. 33

INO. 33 + 2.757 (ISP 9 )

INO. 33 + 5.000

INO. 33 + 14.000

INO. 34

INO. 34 + 1.500
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INO. 34 + 1.500

INO. 34 + 3.936 ( 1EC 9 )

INO. 34 + 9.000

INO. 34 + 12.800

INO. 35

INO. 35 + 0.065 (_ 1BC 10)

INO. 35 + 14.500

INO. 36

INO. 36 + 1.166

INO. 36 + 1.446 (_1SP 10)

INO. 36 + 10.820

INO. 36 + 10.820

INO. 36 + 13.000

INO. 36 + 15.600

INO. 36 + 15.600

INO. 37

INO. 37 + 2.827 (_1EC 10)

INO. 37 + 11.979 (_ 1BC 11)

INO. 38

INO. 38 + 3.700

INO. 38 + 12.860 ( ISP 11)

INO. 39

INO. 39 + 13.741 (_ 1EC 11)

INO. 40

INO. 40 + 3.200

INO. 40 + 14.540 ( 1BC 12)
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INO. 40 + 14.540 ( 1BC 12)
INO. 41
INO. 41 + 14.989 ( ISP 12)
INO. 41 + 16.000
INO. 42
INO. 42 + 15.438 (_1EC 12)
INO. 43
INO. 43 + 15.950
INO. 44
INO. 44 + 2.300 ( 1EP )
N E
il 264.336 278.0 278.0
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-
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5| E L B 1/2 EIE B [22.440 22.4 m2
( 3.83 1.42 1/2 2.719 £ B 240 22.4 m2
@ 3.83 0.69 1/2 1.321
@ 3.54 0.83 1/2 1.469
@ 3.54 2.59 1/2 4,584
® 3.20 1.04 1/2 1.664
O] 3.20 111 1/2 1.776
[©)] 3.20 0.92 1/2 1.472
® 3.18 0.95 1/2 1.511
[O)] 3.18 1.83 1/2 2.910
(i) 2.92 i 1/2 1.621
(@) 1.55 0.78 1/2 0. 605
(12 1.27 0.62 1/2 0. 394
3 1.27 0.62 1/2 0,394
& " 22440
o . 5 =
4 R Bk =¥ B &
(=] i _ N
t=10cm KEEFR LY 22.4 m®
FAGEEN
t=3cm REEFEIY 22.4 m®
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D1NO. 44
1ND. 43+15. 95
FRSEREEMBRERC
B A | ZBIN. 43+15. 95~EP
(& = E 2 s & 1/2 ] = E D B & 1/2 E OB
0] 1.74 0.12 1/2 0. 104 (5 | 1.41 0.70 1/2 0. 494
@ 2.91 0.44 1/2 0. 640 (18 1.41 0.70 1/2 0. 494
€ 1.30 0.23 /2 0. 150 a 1,29 0. 64 1/2 0.413
( 0.86 0.22 172 0. 095 (i@ 1.29 0.64 1/2 0.413
( 0.59 0.31 1/2 0.091
® 3.20 1.66 1/2 2. 656
@ 1.88 0.64 1/2 0. 602
®) 2.00 0.59 1/2 0.590
® 2.16 0.52 1/2 0.562
(i 2.36 0.50 1/2 0.590
(i 2.57 0.47 1/2 0. 604
(i2 2.83 0.55 1/2 0.778
(33 3.12 0.55 1/2 0.858
[T} 3.12 0.54 1/2 0. 842 [ # 10.976

& R O =) = ¥ B
RC-40
s i t=10cm KFE#R LY 11.0 m?
FAEHIRLEE As
e t=3cm REEFR LY 11.0_m’
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FER 45K INO.2+10.60 0.13 X 1.20 = 0.156
el 1555 K INO.18+6.20 0.12 X 1.00 = 0.120
Al 28B4kt INO.30+0.90 0.13 X 0.80 = 0.104
Al 3554 kit INO.36+16.00 0.17 X 0.90 = 0.153
& Gt = 0.533
A i) HO® =1 = ¥ &
RC-40
s
R t=10cm 0.533 0.5
AR As
£ t=3cm 0.533 0.5
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T A e H\\_Jrlr T S
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‘: BACEGNE (W4)
(m)
A = wil | w2 | w3 | w4 | wb | wb | w7
1NO. 23+5.30 ~ 1N0.23+12.30 &£ | 7.20| 4.00 1.00| 6.00 1.13| 0.45|0.545
1NO. 23+16. 70 ~ 1NO. 24+3.85 % | 7.20| 4.00| 1.00| 6.00 1.13| 0.45|0.545
1NO. 24+13.90 ~ 1N0. 25+1.10 Z | 7.20| 4,00 1.00| 6.00 1.13| 0.45|0. 545
1NO. 33+10. 25 ~ 1NO. 33+17.15 &£ | 7.20| 4.00| 1.00| 6.00 1.13| 0.45|0.545
1NO. 40+2.00 ~ 1NO.40+9.20 %« | 7.20| 4.00| 1.00| 6.00 1.13| 0.45|0.545
- § ' =
4 W PSR X B =
" RC-40 Wl W5 W4 W6 & 7
=} i —
t=20cm 7.20 X 1.13 + 6.00 X 0.45 X 5 21.6 m?
t=bcm FAR AR A U 21.6 m®
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0] 3.21 0.97 1/2 1.557 cos |22 3.3 m2
@ 3.47 1.00 1/2 1. 735
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& W o % Y T
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@) 4.87 0.n /2 1.729 COomE [4.470 1.5 m2
@ 4.43 0,96 1/2 2,126
@ 4,24 0.29 1/2 0.615
& # 4.470
ZZA B ) 2V ¥ &
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1.89 0.71 1/2 0.671 x & |10.707 10.7 m2

1.89 0.75 1/2 0.709

1.50 0. 14 1/2 0.105

® 9.20 0.84 1/2 3.864

® 10. 70 0.98 1/2 5.243

® 0.92 0.25 1/2 0.115
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B A RLE As
e t=bcm REEFR LY 10.7_m”




Al T EfidL6

L R 1.0

/540

1481

®

B m | ERIPT [#2 = EE EXEN
55| E R B & 1/2 I | wmms 15188 | 152 m2
[0) 2.16 [N 172 1.198
@ 522 245 1/2 6.395
@ 522 2,45 1/2 6.395
@ 216 111 1/2 1.199

[ [ 15.188

& oM 5 "
o | BARERRCA0
e £ Hh A t=10cm KA LY

e

15.2 m?




Al EN BT T 1.0 EWa1))

ENHEMBREND

EREIIND 23+8.8 §=1:100

-
@
B
E

o

A& % m fE R A
B B | EMIN.23:8 8 [ %] T EEEE
& 5| Ea & & 1/2 I [ wEwms (3w [ 30m2
[©) 3.17 0.96 1/2 1.522
@ 3,17 0.86 1/2 1.522

W B 3. 044

Z B B E2V %

e

FHAEREARC-40
t=10cm KFE#R LY 3.0 m°

e




Al

T K

1.0

/540

ERNHEMBERBHE

ARIIND. 24+7. 5

§=1:100

S LI+PZ ONL

52 0L
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& # =" = # oo
B 8 |20.707 20.7 m2
CO#% | 20.707 20.7 m2

& R FSE S L = ¥ B
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. _ e b 18-8-25
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